BSEH Practice Paper 1( March 2025)
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MATHEMATICS(Standard)
[Time Allowed :3 hours] [Maximum Marks:80]

® FHUIT ST X of foh 38 AT H Higd gv6 21
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® Please make sure that the printed pages in this question paper are
21 in number and it contains 38 questions.

® U2I-9F & gls 3R U 1T HIZ e &l B ¢RI 3R~
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® The code No.on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

® fHIY U I 3R ST YF FA F Ugel 3TN AT
forgar g |

® Before beginning to answer a question, its Serial Number must be
written.

AT 3T GRedRT H Wrell J8&/ 56 o BIS 1

Don’t leave blank page/pages in your answer-book.

® 3IT-GRETH & HARFT HIg 3=y Me wgr & Sreaf |
A ERIFATAR & ford g for@r 3a% & & |

® Except answer-book, no extra sheet will be given.Write to the
point and do not strike the written answer.
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Candidates must write their Roll Number on the question paper.
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® FHUAT YA HT I A § Tgel Ig FlAlRad T o b
URA-9F qUT d Gl &, WIET & 3WId 30 "4 H His M
Grar TAIhR Tl fohar ST |

® Before answering the questions,ensure that you have been
supplied the correct and complete question paper,no claim in this
regard,will be entertained after examination.

AT fAder:
1.5 NRA T HAS5TES &, T, 7T, T 3R 5 &l

2.8 - H 1 20 dh T Uk 3 & 9T 11 ¥ 18 d=
Tgiahedia(MCQs), U s 389, Rebd ¥rr qfd & /318
U] AT 9T TEAT 19 3 20 ITAFRAT-doh TR 927 g1

3. @us-@ H 21 @ 25 d iAo 3TAA(VSA) TR & gr-al
37hI & 92T & |

4. @US-T H 26 @31 deh o - IS A) IR & e e
3T & 9T & |

5. @us-g 7 32 &35 d& 4 - 3A(LA) YRR & 9r-grg
3R & g & |

6. @S- F H YT AT 36 ¥ 38 dov YUl 3EUIT YR IR -
IR AP b IA g |  Udd YT IETIT & HdReh [ddhed
AT A 3 YT H AT IR™TE

7. Y uesT Iy & grdith, @vs-@ & 2 YAl H, @US-T F 2
AT H, @US-H h 2 AT H AT WS- F & 3 Y& A 3dRe
Jored &1 graena  am I g

General Instructions:
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1. There are S sections A, B, C, D and E in this question paper.

2. Section — A consists of one mark questions from 1 to 20. 1 to 18 are
Multiple Choice Questions (MCQs),One Word Answer,Fill in the

blank,True/False and question numbers 19 and 20 are Assertion-Reasoning
based questions.

3. Section-B consists of Very Short Answer Type (VSA) questions of two
marks each from 21 to 25.

4. Section-C consists of short-answer (SA) type questions of three marks each
from 26 to 31.

5. Section-D consists of Long-Answer (LA) type questions of five marks each
from 32 to 35.

6. Question numbers 36 to 38 in Section-E are case study based questions of
four marks each. Internal choice is given in each case study question of two
marks each.

7. All questions are compulsory. However, provision of internal choice has
been made in 2 questions of Section-B, 2 questions of Section-C, 2 questions
of Section-D and 3 questions of Section-E.

gus-&
SECTION-A

GUs-& H 1 37 & 20 g g1

1. Tf= &7 wEaTstt 1 LCM 2400 g a7 39T HCF 8! g1 ®shaT

(a)400 (b) 500 (c) 600  (d)300
1. If the LCM of two numbers is 2400, then their HCF cannot be
(a) 400 (b) 500 (c) 600 (d)300

3
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2. FAEIE X2 +99x +127 F AF &

(a) TAT gATCHE (b) TIAT FOMTCH (¢) FFT a6 (d) UF &aTcHF 3T UH
FUTcHS

2.The zeroes of the polynomial x>+99x +127 are

(a) both positive (b) both negative (c)both equal (d) one positive and one
negative

3 PRl & & R Goeor @ B areatas o A 87
(a) x2-4x +3v2 =0 (b)x? +4x-3v2 =0
(c)x2-4x -3v/2 =0 (d)3x2 +4+/3x +4 =0
3.Which of the following equations has no real roots ?

(a)x? -4x +3+/2 =0 (b)x? +4x-3v2 =0
(c)x2-4x -3v/2 =0 (d)3x2 +4+/3x +4 =0

4712 1,9m%3m?2 + 14,4m+21 A.P. | &, a7 m Ta< &

(a)o (b)1 (c)2 (d)3
4.1f 1,9m?,3m? + 14,4m+21 are in A.P.,then m is equal to
(a)o (b)1 (c)2 (d)3

5.71% &g (4,a) 31T (1,0) & = T T 58, qT a T A &:
(a) FaA 4 (b) FaT -4 (c)x4 (d)o

5.1f the distance between the point (4,a) and (1,0) is 5, then the value of ais :
(a) 4 only (b) -4 only (c)x4 (d)o
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6.5 T ATl &, A AB DC 2, 31 x FT A 2
(a4 (b6 (c)7 ()9

6.In the given figure, if AB DC,then value of x is
(a)4 (b)6 (c)7 (d)9

7.9 =1 7, AC 3T AB, O g aTol Us g 9% &7 w@ru g1 Ifs COD =
120° 99 BAO sX&< @ :

(2)30° (b)60°  (c)45° (d)90°

7.In the adjoining figure,AC and AB are tangents to a circle with centre at O. If
COD = 120°then BAO is equal to

(a)30° (b)60° (c)45° (d)oo°

Q{Iﬂl legedunias
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8.7 sina = ? T4 (tan? o — cosa) FT TIT 2 :

@k (b) 3

o

(c) % (d) S & =IS Ael

8.If sina = g ,then the value of (tan? a — cosa) is

(a)g (b) g (c) % (d) none of these

.U UH ST &7 &l [STaeh! Tfe IHeh! 1537 r TS &1 A1 AT &,

5.

2 2
(@ e (p2rwtsms (R (d) 5w

9.The area of a sector whose perimeter is four times its radius r units, is

2 2
(a);sq. units (b)2 r?sq. Units  (c) r? sqg. units (d) r?sq. units

10,713 T et 3T UF I A7 IS &6 a6 &, AT ANl o SATH S =T a0l
ST 3T ST
(a)l: 2 (b)2:1 (c)T : V6 (dWV6 : VT

10.If a sphere and a cube have equal surface areas, then the ratio of the
diameter of the sphere to the edge of the cube is

(a) 1: 2 (b) 2 :1 (c)v V6 (d)WV6 T

11,77 Toret ST &7 agas IH ATed & 12 A8 31 7T &, AT dgelsh AIeda
o TR stferss g1 Srar g2

(a) 4 (b) 8 )6 (d) 10
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11.1f the mode a series exceeds its mean by 12 , then mode exceeds the
median by

(a) 4 (b) 8 (c)6 (d) 10

12. 400 =T %[ U &9 H G 31 AT sl TA979T 0.035 81 3 &9 § G
SISt T HEAT
(@) 7 (b) 14 (c)21 (d) 28

12.The probability of getting a bad egg in a lot of 400 is 0.035 .The number of
bad eggs in the lot is :

(b) 7 (b) 14 (c)21 (d) 28

13.7fax=22 x 32, y=22 x 3x5,7=22 % 3 X 7 3f¥ LCM(x,y,z)= 3780 &, AT a &I {7
2l

13.1f x=22 x 32, y=22 x 3x5, 7=22 % 3 X 7 and LCM(x,y,z)= 3780, then the value
ofais

14Tt T 6T THTa Tq9T TATSAT o o1 ol gLl 9l BT gl

14.The distance between the parallel tangents to a circle is the of the
circle.

15.(1+tan?0) (1-sin B) (1 + sinB) FT HTH 2l

15.The value of (1 +tan®0) (1 -sin B) (1 + sinB) is

164X sinA = - ¥ cosB= - & AT A+ B HT AT T £2

1

16.If sinA = >

and cosB= % then what is the value of A+ B ?
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17.r AT Tt Sefgw & a9 ga9 a2 BT #7 &= foha+T 8?

17.What is the area of the largest triangle inscribed in a semi-circle of radius r ?

18. U STATRAT a2 Y (AT AT &

18.A frequency distribution is given as :

Class Interval | 0-5 5-10 10-15 15-20 20-25
et aRrer

Frequency 10 15 12 20 9
IRERAT

HTEA AT AT AgeAsh a1 ol (7o HIHTSAT 7 TNT FAT 52

What is the sum of the lower limits of median class and the modal class?

TeaT 19 3iX 20 & v feer Ader: weaT @war 19 31k 20 #, 3wy A) F
STe dh(R) &1 HUA gl (a), (b), (c) 3R (d) H & F& aheT Tt Siam o oA
e = &

(a) AFFUA (A) IR d® (R) c=r T § 3R a& (R), 3fFsaT (A) Hr
TET ATEAT FIAT ¢

(b) AfAFHUA (A) 3R d& (R) a=r T@Er g 3R d& (R), 3fFwRa=A(A) &
T grEAT T8

(c) HfFFYUT (A) FET §, R dF (R) ) TTod & |
(d) 3R (A) T §, e d (R) eI &l

19. 31 AFYT(A): V2 TF FaRAT Ear g |

% (R): 7f3 p TF TSI €T &, AT /P TF ATHT HE&AT 5

# collegedunia



20.37fAFYA(A): &g P(-1,5) 3R Q(7,3) & T & gfr 4V7 &l

a® (R): & QU a1T &gt A(xe,y1) 3R B(xzy2) & & &1 g et ganr & 18
e

AB=/( 2— 1)2 +( 2= 1)?

Direction for Questions 19 & 20: In question numbers 19 and 20, a statement
of Assertion(A) is followed by a statement of Reason(R).Choose the correct
options from (a),(b),(c) and (d) as given below:

(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion(A).

(b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not
correct explanation of Assertion(A).

(c) Assertion(A) is true but Reason(R) is false.

(d) Assertion(A) is false but Reason(R) is true.

19.Assertion:\/2 is an irrational number.

Reason: If p be a prime,theny/ is an irrational number.
20. Assertion: The distance between the points P(-1,5)and Q(7,3) is 4v17 .

Reason: Distance between two given points A(x1,y1) and B(xy,y,) is given by

AB=/( 2— 1)2 +(2— 1)?

s -g
SECTION-B
gus-§ H 2 3T & 59 &1

Section B consists of 5 questions of 2 marks each.
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21.(a)afg 2x+y =233R 4x-y = 19, a9 5y -2x 3R Yo% Am EIGEASE]
X

37ar

(b) p 3 et AT & AT 70 T 1T FHYRROT oo 7 316 AT e &7
4x +py +8=0
2x+2y+2=0

21. (a)If 2x+y =23 and 4x-y = 19, find the values of 5y -2x and— - 2.

OR

(b JFor which values of p does the pair of equations given below has unique
solution?

4x +py +8=0
2x+2y+2=0

22 50 ¥ x T a8 "I FA7q shitory forereh forT DE AB 2|

22. Find the value of x for which DE AB in Figure.

10
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23,37 Hehfed FAL ahl TISATU 5 FHT 3T 3 HHT g1 I I ol I STAT ol AaTs
ST HITSTT ST g1 =T T #97 FTAT 2

23. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the
chord of the larger circle which touches the smaller circle.

24. (a) T sin(A-B)= %313'( cos(A+B)= iz : 0°<A+B< 90’;
A> | drA3T BATT HiU|

EREH

2 b2
24.(b)afe x=asin@dAT y = btand ,d« i—z—y—zwmﬂm

ST |
24.(2)If sin(A-B)= 3 and cos(A+B)= = ; 0°<A+B< 90"

A>B, find A and B.
OR

2 2
24.(b) If x=a sinB and y = b tanB ,then find the value of 7 — —

25. 20 HaT x 16 HIET ATATH dTeT Teh ATTATHTE HETH o Fid I TF T FT 14

HeT T TEHT | ITET AT 8| ST & T S ST i o0 (orer ¥ I =L Tehel |
gl

25. A cow is tied with a rope of length 14 m at the corner of a rectangular field
of dimensions 20 m* 16 m. Find the area of the field in which the cow can
graze.

11
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gus -
SECTION-C
US - A 33H F 69T Bl
Section C consists of 6 questions of 3 marks each.

26. forg Frfor f36 24/5 -3 U AUAT | g Sath /5 & aaT o
2|

26.Given that v/5 is irrational, prove that 2v/5 -3 is an irrational number.

273 0,p FgIG 2x2-7x+3 & Yrdh &[T 0? + B F AT A HISC

27.If , are the zeroes of the polynomial 2x2-7x+3 .Find the value of o + 2.

28.(a) T THRIETL T& o oI fohdTel FohTT 9% <AT 8| a8 T8l &l [l & [T
T AT o o1ar &, 3T 39 918 T [ o (o710 U ST iwh o odTl gl
TRt 7 g AT T Tt TS ohaTar o o0 2 22 T ETaT (63T, STah Mg o
AT [T T TET TS FhdTa o o0 2 16 37 A 63| Heiia g sl T
srta e fae o fore ge w1t fitsro)

ATAT

(b) =T 3T T HEAT AT 3T T IS T ITH H&AT T AW 66 g TS G&AT 6
ST § 2 T 3(A< g, O T&AT S7d e

28. (a)A shopkeeper gives books on rent for reading.He takes a fixed charge
for the first two days, and an additional charge for each day thereafter. Latika

paid X 22 for a book kept for six days,while Anand paid X 16 for the book kept
for four days.Find the fixed charges and the charge for each extra day.

OR

12
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(b) The sum of two- digit number and the number obtained by reversing the
digits is 66. If the digits of the number differ by 2 ,find the number.

29,7 W g7 AT ABC &1 ST BC %7 P 9% 9T 92TE T8 o3l AB ¥
AC &7 FHET: Q 3T R =TT Far g, 1 forg ¢

AQ=3(BC+CA + AB)
e
B
P
A e

29. If a circle touches the side BC of a triangle ABC at P and extended sides
AB and AC at Q and R, respectively, prove that AQ= % (BC +CA +AB)

30.(a)afx sin@ + cosb=+/3 ,aa &g Fforr f tand + cosb =1

EREN

COtA —COosA _ cosecA—1
COotA+CcosA B cosecA+1

(b)Fg Rt &

30. (a)If sSin@ + cosB=+/3 ,prove that tanB + cosO =1

OR

COtA —COSA _ cosecA—1
COtA+CcOosA - cosecA+1

( b )Prove that

13
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31.0F 9T § 24 73 ¢ ISFH | x AT &, 2X THE g 31 3x A1l gl TH g
TG e ®F ° AT ST g1 THehT FAT Tl g o ag (1)1 Ael a2 (i) THe
g ?

31. A bag contains 24 balls of which x are red, 2x are white and 3x are blue. A
ball is selected at random.What is the probability that it is (i)not red? (ii) white?

Tus-q
Section —D

Section D consists of 4 questions of 5 marks each.
GUS-H H 531 & 492 gl

32.(a)T T FATAT o 0T T TLrAT H 30 3ihi § 7 10 37 7fea w17 &0 gra,
qT T 3 IA ATEA (A 30l o a3 T AT AT gIdl| TLEAT | IH Toha e 3tk [Her?

EREN

(b) T FHITT GATCH JOTih ATT FHe (oTh AT FHT AN 365 &

32. (a)Had Sunita scored 10 more marks in her mathematics test out of 30
marks, nine times these marks would have been the square of her actual
marks.How many marks did she get in the test?

OR

(b )Find two consecutive positive integers,sum of whose squares is 365.

33.(a) AMFA | Afe 1= 27T

ANSQ  AMTR, a« f&rg IS fF APTS~APRQ.

14
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33.(a)In figure ,if 1= 2andANSQ AMTR, then prove that
APTS~APRQ.

R

OR

(b) ABCD T# TR g fSra# AB DC 3T 38 (90l UFh ga¥ &l fdg 0 1%

P~ : AO _ CO
Ja=se Fd 8l EQI‘T?:Q%E—DO

(b) ABCD is a trapezium in which AB DC and its diagonals intersect each other at

the point 0. Show thate> = =
e point O. Show thatz = = ==

34.(a) T BN TGl I & I Tl Teh ofFd g A% & IhR H gl AH
Fr FAs 4 T 3R IR FT T 8 FHT &1 [Wellar 1 3madsd g direw| afe vh
ool el & aRera &, O g 3R @ella & 3maaea &1 3aR) Aa fifew el

T Fel ST &ahel 3T AT FHIfST|

(a) A solid toy is in the form of a hemisphere surmounted by a right circular cone.
The height of the cone is 4 cm and the diameter of the base is 8cm.Determine the
volume of the toy. If a cube circumscribes the toy,then find the difference of the
volumes of cube and the toy. Also, find the total surface area of the toy.

R

OR

15
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(b) StaT & = § fammar 3 2, ue 3 eie % Tos g | U qrerd

RToTehe Teh et T ATHTT S9TAT AT 7| J1E I il SHATs 10 HHT & 3T 36eh

ST T FISAT 3.5 AHT 8| TG T T TSI &AHA AT i o]

( b)A wooden article was made by scooping out a hemisphere from each end of a
solid cylinder, as shown in figure. If the height of the cylinder is 10 cm, and its base

is of radius 3.5 cm. Find the total surface area of the article.

35.(a)Fferiera sfishst T 9Teas 525 g1 Fi qTaTear &7 IRTE 100 8, a7 x 37

y T /I ATd 1

35.(a)The median of the following data is 525. Find the values of x and y, if the

total frequency is 100.

Class Interval Frequency
g 3raTrer IRERAT
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4

16
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R

OR

(b) ToFET T % 50 ATHFT i IFH ASIGL o MAeed @aeor 92 =

e

( b) Consider the following distribution of daily wages of 50 workers of a

factory.

Daily
wages(in

HEED
(Fa=t
)

100-120

120-140

140-160

160-180

180-200

Number
of
workers

T

£T geaT

12

14

10

ST=ra TaTer 7 STANT ek HIETH & ATl S aieieh ToTgdl Sd Fe

Find the mean daily wages of the workers of the factory by using an

appropriate method.

Case study based questions

gUe-T

Section-E

17
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36. TATHFT | FT AR o AqHH o Tgol AT Jed 6 THIT [Q@TT MU &:

36.The first four patterns of a sequence of figure made of toothpicks are
as shown:

Pattern1 Pattern 2 Pattern 3 Pattern 4

(1)159 Te H fohavt zITuF 82

S

(i) How many toothpicks are there in the 15" pattern?

(i) T n 7 136 ATIAT &, Tl n T AT FATE?

(ii) What is the value of n, if pattern n has 136 toothpicks?

(iii)(a)TZer 30 Tewt ST | FohavT o Tuar &7 ITTRT FhAT STTaT 872

(iii) (a)How many toothpicks are used in making first 30 patterns?

4T OR

(iiii)(b) 20 Tt T a1 | FohaeiT 22deh sT STANT FRAT SITAT 87

[SN

(iii)(b)How many toothpicks are used in making 20" pattern?

18
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37,0 SR(AT U a3 o AT AT g| FTSAT § (1= ol ST I Uh gHL H 1 /e
T LT IT ATHT UL o 9T T A S I AT h GTel H To=T ATl gl
SUUE Rt §, AT F FeAT 10 o ST ° 7EG ATl Srgid g8 o7 U ATe
ERIRIS IR I E E R L LG

_m"."‘" i

37.A garden is in the shape of a square .The gardener grew saplings of Ashoka
tree on the boundary of the garden at the distance of 1 m from each other.He
wants to decorate the garden with rose plants. In the above situation, the
gardener took help from the students of class 10.They made a chart for it
which looks like the given figure.

IUIE & e 9, Aetertaa v & s SN

Based on the above,answer the following questions:

(iyTT= A T o fog & &7 | T Sirar g, @ APQR & oftof & Maeris #1582 1

(i) If A'is taken as origin, what are the coordinates of the vertices of APQR ? 1

19
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(i) (a) =T PQ 3T QR FATT HITTT| 2

R

(b)3H &g & Maere A1 < 51 [9g P 3T R &l SIS ATer @7 @€ &l ATaiah
T 2: 1 o AT | FArATHoIT Hear gl 2

(ii) (a) Find distances PQ and QR. 2
OR

(b)Find the coordinates of the point which divides the line segment joining
points P and R in the ratio 2: 1 internally. 2

(i) FfsTe 3 a1 APQR Tk HAGASTE ST & 1

(iii) Find out if APQR is an isosceles triangle. 1

38 IS TS TSTEATH o SHad forel § Rorq 81 T80 STHeTHT 3 1T o a9 a1
o7 31T 1431 oTaTeat | ST (Hg o THRT AT HI0AT AT| St § g ATl
2| I | U &l §q (= § Q@3 7 g| = &7 3%| 9T s T & h #{iex
ST UF (g A €, Fadt # it (6 B) T ST HI07 450§ ST I H T8
Tt T AGTHT DI (63 C) 60° Bl ST TL F FUL S Al HATS (THTHT)

10 HTeX gl

20

Qcal[egedunia



38.Gadisar lake is located in the Jaisalmer district of Rajasthan. It was built by
the King of Jaisalmer and rebuilt by Gadsi Singh in 14t century. The lake has
many chhatris. One of them is as shown in the adjoining figure. Observe the
picture.From a point A, h m above from water level,the angle of elevation of
top of chhatri (point B) is 45° and angle of depression of its reflection in water
(point C) is 60°.The height of chhatri above water level is (approximately) 10 m.

UL ST o ree ¥ fAerferfera wen & sae St

(i) STEIE STTARTLL o AT T U Aot q¥g & ATHI ol SATRId ST 2
(ii) ST ¥ | 9T [6g A i 3912 (h) AT DTl [V3 = 1.73 ITANT it ]
2

Based on the above information, answer the following questions:

(i) Draw a well-labelled figure based on the above information. 2

(i) Find the height(h) of the point A above water level. [ use V3 = 1.73] 2

21
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